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How de we derive, however; the death of the husband

OVERVIEW

The %773 asked from where we derive that a woman is free to remarry after
her husband’s death. The implication of this question is that the presumption
(without a specific T1°7) should be that an nnn Mo°X that is caused through
marriage should persist even after the marriage no longer exists.' nooIMN
presents a contradiction to this presumption and resolves it.

MmooIn asks:
— %9 INYII AN HYNI RIP 1222989 (x,1 97 parmo) NN 7T P992T N1ION

It is astounding! For in nins» '7 P99 the X713 requires a 02 concerning a

father’s wife and other nyy —
— 2115 9NRY 1> 0NN 192 MINONY

That they are forbidden whether he (the father or other relative) is alive

or whether he is dead —
— %3 NY YIY N1DI%2 RIP TH9819 (x,n3 97 mnas) 1N DY NAN 99929

And in n»2v By X277 P75 the X3 requires a oD for a sister-in-law who

has children -
- 359211 NN NNY NNIONT

That she is forbidden to her brother in law even after her husband dies —
— *nYya NN INNY YWIN NYN PNNY YD 759813 NP

And here we require a o2 to permit a married woman to have relations
with others after her husband died!

n90IN answers:
— NY¥A NN INNRD YIN NYN 2NN NIV 1INIY YINNRT 99D U

And one can say; that after we saw (here in our X »3) that the 7n
permitted an R''R to remarry after her husband’s death —

" Otherwise, if the presumption is that any 110°X generated through marriage is dissolved when the marriage
is over, then obviously if the husband dies there is no longer an MoX of WX NWK.

% A son is forbidden from having relations with his father’s wife (who is not his mother) whether the father
is alive or deceased.

? This indicates that if not for these 2p105 which extend the prohibition after death, we would assume that
these women would be permitted to those relatives for whom they were formerly prohibited. Why therefore
do we need a 109 to teach us that by an "X she is permitted after her husband’s death?!

* We should assume, as we assume by the other ™y, that if there is no 109, the 710°X ceases at the time of
death.
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As we derived from 2°?105 in this X923, it was necessary to cite 292D

there to prohibit N1y even after the death of their spouses, in order —
21197 PNIY YWIN NYUND 9953 N9T

That we should not derive from X''X where the ;790 permitted her to others
after the death of her spouse. In order that we should not assume the same by other N1y
such as 12X WX or 1NN, it was necessary to derive the 710°X from the 0°?105 mentioned
there.

SUMMARY

After the 770 teachers us by X"X that death dissolves any 710°X which was
caused by marriage, it is necessary for the 7710 to teach us that by certain
N7y (caused by marriage), the MO°X continues even after the marriage
ceases.

THINKING IT OVER

moon resolves the contradiction by saying that once the 7710 writes by X"X
that she is N7 after Y¥2n nn°» it became necessary to have a P05 by nvaw
that she remains 70X even after Hv27 nn. Seemingly Mooin could have
said the opposite; once there are 2’2105 by N1y that the 0K continues after
%¥an nnn it becomes necessary to have a P09 teach us that by X"X she is
nnm after 5¥a7 nn».” Why did mpoin choose one way over the other?!°

> There is seemingly an advantage to this latter interpretation for it seems to be corroborated from the
question of the X713 that we cannot say 707w X7 770X K17, since by N1y we do not say this; indicating that
the necessity for a P10 by X"X stems from the T0°X by NIy IRw.

® See X7 X"wAn and 7"aR # 190-193.
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